S?i";hs 2009

METU [EEED
££ 201( 2P TC

TR .3

ursmzaonost,:,hzz,"} Vv

4)

Vi i)
3
‘i\e c;rcuu'f HERY H\E 858.

LRl
) Cow\pu{e the wvuple;. p ower S"Ppl:ﬂd b‘j {he source.

() Compute the real powers debvered tothe resistive
p P
and the reochive powers delivereel te the [Jyﬂawfc glewmeats.

%lENEr\{'S

r\J:EMJEd.

() VE*‘:P&f that the real m\d rEorc‘[‘ive powers are o
\d\ Qom'xu)c& ‘H\E n%fuge s“l:o'teo‘ enwg.‘es in “\e clk_[f\uwlfr_ blemen{‘s.
-1
2 a + Lyt 4 W resis Hve
% V. L, 5VA, #8298 \eodivg
s L -7 3.9+ VA
2) L,: 0.5 +10:5 Kvh
Ly 2¥VA, pl,=02 leading
41 ¥UR, ofy=08 los™y
VLQW: 140 Vews

CQMP\,I*Q {'Ihﬁ QGW\P\f"L ?WE"‘ S'«!rp“&d

oy the sowrce. Fiad Vsp_w’
Voo Hiog Vews | L =0.6+30.8 Ao

i\/s‘ﬂ-'ﬁ VJ ?E“W‘rfe:ﬂ:? \Emdr'v.'g

S,=0.% +i0.4 VA, <,=-3 VA

Fiad 20’ 2\)21’23JV$ )

- : .S VA
S) % | -~ bb+3 D
ﬁ . n L
i o L, -y vhe, ph= 0

4 CV
ILQ#-‘ =% Aews

F;ﬂd R} C)‘Rel‘,.f Olﬁd VSE.E?‘
-



The circurt is i the $53 at g:SDH?.
H

‘QQQ = \’O\I‘S_ va\\s) L:;;_‘E
L : V23 RV, S KW, cqpoci Ve
Lp:d RVAR, pB,L = Uz legging-

|

p{ = 2hvs logging

Fiqd L.
Sw
V""EW =10 Vg
L, 5 VA, inductive
Ps. =4.5 W
) vV o 16 Vyme,
(¢) Sw is open: Find ’XJ PQIWJ mﬂd Sgogvtnr el A e
(iach o/fﬂy‘ ‘

&) Sw s closed (VLQ{? =10 Yewg) Determmne 2 =0 {'ha{' P‘{)\oad
the tapootor ) is 0,96 logging. Also Piud S s V-Se{’f ]

k=p.5

V_.;:SDL"Z'- \
lop fL
Jd b 190 31 rEOST O

H\u{ the averoot powey de,\a'ver{*

De'l'efmfne Z 50
this power.

15 e xmut. Plso tomeu{-e
Esl’d'-‘iO COS(Q“O."H i

g\ ’T}\e c;fcu;'i‘ sin the s& .,
R i, R=BOOVY &
Deterwne N So{"na«'[’ the m\lemge PD\H?*‘ cJQ,‘NEfEc! o R is moxymum.
Ase compute this powes. ) CH__

__._.—@"' LT O
| Vgltds 20<ps (214300

R The ehvewrt 15 ™ the SSS,

ovC 30 that the avercge power delivered 0 R
R ar] LorC co\mw'}e the cowmpléx
d‘ 'H"e ave cagp poWEers OIQL.VE‘PE(',!

L

these values D?
by the sourtes od

to tho resistors. il

DQ_‘\;MM;we R le
s woawym. For
pOweT S supplied



